2014% N—<=7F
B R REF AR

ERXAREF

HAR 20144F6R9H~16H

IGFT IL—< =7
gILath




AEE (AFURE) —E

A5 0 1A

RASIL

AASIL 4 &

1

& H{xs B¥F (V53X6—7)

HiFE B+ (V5X3-5)

(V5 R7

BAE BF (UV753X4-5)

*
) F

Es -
o

HE 2K K-35 FEF

ER

& >t

TH BEXER- £H BKE

(V5X8—9) MK MsxE-FF =F
A IVIATER 5 {@& EPN: 2 & FRAES 3 @&
= %=
Rk B B =

No K £ | 95X @B A B M & B

1 T H BEKXER B SAASIL9
fAASIL 8

2 T H #KER >:] 5 RX+6./9
3 * F & K 5 7 gAAZIL10 BAFIL7

4 ] K B = 5 9 RZX k6710
fAAZIL 8

5 5 OH = £ 5 9 AR k6.710
6 x® H OOIH 8 7 F 4G5 F44175




3 E E\
B & &F M No. 1
No K 4% | I5R @ A B (il N4
XY S5R4—5TSMN XY S5A3—5TSM
SmA# 9 A SMF—L 8F—L
JIL—T% 3 FJIL—T#H 2
A=3 B=3 QOC=3 A=4 OB=4
&) —5 -5
3—1 ROU 0—3 ROU 1
2—3 USA 3—0 MDA/SRB
3—2 USA
1| £ 3% BAB | B | 5 1B R
T 2 (@il 2818
T 2 (@il
R R—F AR
R R F—F A+
3—2 SUI HETR B
AR 0—3 UKR
0—3 INA
EAASIL
EAASIL
XHS5R4—5TSh
SMAH 9A
FIL—T% 3
OA=3 B=3 (=3
FEY)—
2—3 INA
3—1 SUI
10518
2| % #AH 5
#*OBAS | F 2 (BB
R R—F A
HE R
2—3 USA
R L6




. + =3
B & &F M No. 2
No K 4% | I5R @ A B (il N4
SMAE 10A X7 S5ZX8—9THM
JIL—T# 3 SMF—L 8F—L
A=3 OB=3 =4 FJIL—T#H 2
A=4 OB=4
FE)—5 -
1—3 FIN 3—0 ROU
3—0 ROU 1—3 UKR2
3—1 POL
3| #% K @ = | B 9 10188
TiE 2 L@ 218K
T 2 @il
R R—F A
KRR R F—F A+
0—3 UKR HETR B
2—3 UKR
RNX L6
EAASIL
SMAE 10A
JIL—T% 3
A=3 B=3 OC=4
FEY—Y
3—1 POL
0—3 UKR
3—0 ROU
4| 5 H = F | B 9 T—
¥ 2 @ik
R R—F A B
HERE
2—3 UKR
R L6




B # & No. 3
No K % | IR B A B H K B
SmMA# 10A XI5 6—7 TS
JL—J#% 3 XPOLEFE
A=3 B=3 OC=4 Ei-SmBITAT SAN
SMF—L 7F—L
JIL—T% 2
A=4 OB=3
FE)—Y FE)—Y
3—0 ROU 3—0 SVK/SRB
2—3 UKR 3—2 ROUT
3—1 SRB
5| # £ & % | B 7 2 15 O Bk
2818 FiFE 1 fL@d
FiE 2 @i
R F—F A b
REBE—FAE R
HE R 3—2 GBR
3—0 POL REG
HEREB 0—3 UKR
1—3 UKR
BASIL
fAASIL
SMA# 5A XY S5ZX8—10TEM
GIL—T% 1 MUKREFE
ES[ = DITAC (AN
SMF—L S5F—L
TL—T% 1
R — Rig)—o
0—3 UKR 1—3 RUS/UKR
0—3 POL 0—3 ROU T
3—1 ROU 0—3 POL
6| ® F HH | X 7 0—3 POL 3—1 ROU2
1% 38K 1B 38K
FE AL F AL







